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f=inline('[1;x(3);x(1)*x(3)+x(2)-  ...

           9*x(1)^2+4]','t','x'); 

 tspan = 0:0.1:1;

xin1=[0,2,-1];

[T,x1]=ode45(f,tspan,xin1);

%

%

xin2=[0,2,1];

[T,x2]=ode45(f,tspan,xin2);

plot(T,x1(:,2),'b',T,x2(:,2),'r')
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.   x(t)  =  0.5 * x1(t)  +   0.5 * x2(t)  

t-values
x1-values
x2-values
x-values

= 0.5*x1 + 0.5*x2
Exact values

=3*t^2 + 2

0.0
2.000
2.000
2.0000
2.0000

0.1
1.9297
2.1303
2.0300
2.0300

0.2
1.9173
2.3227
2.1200
2.1200

0.3
1.9608
2.5792
2.2700
2.2700

0.4
2.058
2.902
2.4800
2.4800

0.5
2.2062
3.2938
2.7500
2.7500

0.6
2.4025
3.7575
3.0800
3.0800

0.7
2.6436
4.2964
3.4700
3.4700

0.8
2.9253
4.9147
3.9200
3.9200

0.9
3.2426
5.6174
4.4300
4.4300

1.0


3.5893
6.4107
5.0000
5.0000
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